Dividing by 1 to 14 (A)

Name:

Date:

90 +10=
140 - 14 =
144 - 12 =

81 +9 =
108 =12 =
100 =10 =
120 =10 =

90 -9 =
182 + 14 =
117 +13 =
126 -9 =
182 +13 =
196 - 14 =
130 - 13 =
168 =12 =
140 =10 =
130 =10 =
117 =9 =
108 =9 =
110 =10 =
156 - 12 =
126 - 14 =

56 =8 =

284 =

54 -6 =

Calculate each quotient.

12 -6 = 12+-1=
44 =11 = 4+1=
88 +11 = 8+1=
14 =14 = 26 -2 =
10+-1= 9+1=
110 =11 = 143 =11 =
11 +11 = 42 -6 =
13 +13 = 55+11=
27 +9 = 32+8=
18 -9 = 143 - 13 =
2+-1= 40 =10 =
54 +9 = 36 -9 =
4+2= 156 =~ 13 =
120+ 12 = 36 -4 =
22 +11 = 154 - 11 =
44 - 4 = 49 -7 =
4+4 = 10 -2 =
168 - 14 = 20+2 =
27 +3 = 52 +13 =
104 =8 = 99 - 11 =
33+11 = 123 =
14+7= 39 +13 =
21 -3 = 24 -6 =
132 +11 = 26 -13 =
80 =10 = 24 -2 =

Score:

99 +9 =
9+3=

33+3=

1+1=
10+5=
45+ 5=

154 ~14= |

91 - 13 =
50+10 =

30-10= |

132 +12 =
55+5=

104 ~13= |

60 - 12 =
63 -7 =
6+-2=
42 -3 =

121 =11 =
11+1=
21 +-7=
36 -3 =

169 - 13 =

48 +6=

56 -4 =
60 -6 =
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Dividing by 1 to 14 (A) Answers

Name:

90 +10=
140 -~ 14 =
144 ~ 12 =

81 +9 =
108 =12 =
100 =10 =
120 =10 =

90 -9 =
182 + 14 =
117 +13 =
126 -9 =
182 +13 =
196 - 14 =
130 - 13 =
168 =12 =
140 =10 =
130 =10 =
117 =9 =
108 =9 =
110 =10 =
156 - 12 =
126 - 14 =

56 =8 =

28 -4 =

54 -6 =

10

12

Date: Score:
Calculate each quotient.

12+-6= 2 12+-1= 12 99 -9 =
4 =-11= 4 4+1= 9+-3=
88+-11=| 8 8§+-1= 38 33 -3 =
14+-14= 1 26 -2 = 13 1+-1=
10+-1= 10 9+-1= 9 10+5=
110+-11= 10 143 +11= 13 45 +5 =
11+-11= 1 42 -6 = 154 - 14 =
13+-13= 1 55+11 = 91 -13 =
27+-9= 3 32+-8 = 50 +10 =
18+9= 2 143+13= 11 30+10 =
2=-1= 2 40+-10= 4 132+12=
54+-9= 6 36 -9= 4 55+5=
4=2= 2 156+13= 12| 104 +13 =
120 -12 = 10 36+-4= 09 60 -12 =
22=-11=]2 154 +11= 14 63 -7 =
4 -4 = 11 49 -7 = 6=-2=
4+-4= 1 10+-2 = 42 -3 =
168§ - 14 = 12 20-2= 10 121 +11=
27+-3= 9 52+13= 4 11+1=
104 -8 = 13 9=-11=9 217 =
33+-11= 3 12+3= 4 36 -3 =
14 +7 = 39+-13= 3  169+13 =
21 -3 = 24-6= 4 48 -6 =
13211 = 12 2613 = 2 56 -4 =
80=-10=| 8 24 -2 = 12 60 -6 =
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Dividing by 1 to 14 (B)

Name:

Date:

120 - 12 =
154 - 14 =
182 +13 =
100 =10 =
126 -9 =

90 +-9 =
121 =11 =
140 - 14 =
154 - 11 =
108 =12 =
182 +14 =
90 - 10 =
130 - 10 =

81 +9=
140 - 10 =
117 =13 =
168 - 14 =
117 +-9 =
130 - 13 =
143 +11 =
99 =~ 11 =
168 - 12 =
132 +12 =
169 - 13 =
108 -9 =

Calculate each quotient.

110 - 11 = 80 +10 =
143 - 13 = 156 -12 =
126 - 14 = 48 -4 =
39+-13 = 9+1=
120 +-10 = 3+-3=
196 - 14 = 35+5=
18 -6 = 78 - 13 =
96 -8 = 15+-3 =
44 = 10+-5=
16 -4 = 65+13 =
104 - 13 = 16 -2 =
144 =12 = 84 - 12 =
88 -8 = 9+9=
28 -7 = 14+1=
110 +-10 = 52 +4 =
99 -9 = 56 -8 =
60 -5 = 56 14 =
24 -6 = 27 +9 =
8+1= 65+5=
98 -14 = 40+5=
72 +12 = 5+5=
20 +10 = 36 -6 =
48 -6 = 102 =
84 +7 = 33+-3=
7+1= 88 11 =

Score:

64+ 8 =
70 + 5 =
6+1=

18 ~3= |

217 =
5+1=

32-8=

60 =10 =
72+ 8 =

132+-11= |

156 - 13 =
70 - 14 =

48 ~12=|

49 -7 =
84 -6 =
11+-1=
112 +14 =
20+2 =
56 -7 =
98 -7 =
60 -6 =
24+ 4 =

44 +11 =

28 =2 =
55+11 =
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Dividing by 1 to 14 (B) Answers

Name:

Date:

120 - 12 =
154 - 14 =
182 +13 =
100 =10 =
126 -9 =

90 +-9 =
121 =11 =
140 - 14 =
154 - 11 =
108 =12 =
182 +14 =
90 - 10 =
130 - 10 =

81 +9=
140 - 10 =
117 =13 =
168 - 14 =
117 +-9 =
130 - 13 =
143 +11 =
99 =~ 11 =
168 - 12 =
132 +12 =
169 - 13 =
108 -9 =

Calculate each quotient.

10

11

14

10

14

10

11

10

14

13

13

14

12

13

10

13

14

11

13

12

110 +11 =
143 - 13 =
126 - 14 =
39 +-13 =
120 - 10 =
196 - 14 =
18 -6 =
96 -8 =
4+4=
16 -4 =
104 ~ 13 =
144 12 =
88 =8 =
28+7 =
110 =10 =
99 -9 =
60 =5 =
24 + 6 =
8§+1=
98 =14 =
72 =12 =
20+10 =
48 -6 =
84 =7 =
7+1=

10

11

9

12

14

3

12

1

80+10 =
156 12 =
48 ~ 4 =
9+1=
3+-3=
35+5=
78 =13 =
15+3=
10 +=5=
65+13 =
16 -2 =
84 +-12 =
9+9=
14+1=
52 -4 =
56 -8 =
56 14 =
27 +9 =
65 +5=
40 -5 =
5+5=
36 -6 =
102 =
33+3=
88 - 11 =

13

12
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Score:

64 -8 =
70 =5 =
6+-1=
18 =3 =
21 -7 =
5+-1=
32+8=
60 =10 =
72 =8 =
132 =11 =
156 =~ 13 =
70 =14 =
48 - 12 =
49 -7 =
84 -6 =
11+-1=
112 +14 =
20+2 =
56 -7 =
98 -7 =
60 -6 =
24 -4 =
44 - 11 =
28 +2 =
55+11 =

p— = | [ = = || = || = p—
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Dividing by 1 to 14 (C)

Name:

Date:

90 +10=
110 =11 =
182 + 14 =
108 =12 =
130 =10 =
117 =9 =
140 =10 =
99 - 11 =
143 - 13 =
168 - 12 =
169 =13 =
117 +-13 =
121 =11 =
110 +-10 =

81 +9 =

90 -9 =
156 - 12 =
72 +12 =

6+1=

4+4=
120 - 10 =

306 =
100 =10 =
126 9 =
104 - 13 =

Calculate each quotient.

7+=7= 30+-5=
104 -8 = 66 -6 =
42 -6 = 15+5=
77 =7 = 10 -2 =
132 +12 = 45 =9 =
2+2= 35+7=
9+1= 96 - 12 =
44 - 4 = 154 - 11 =
6+2= 28 - 14 =
143 - 11 = 120+ 12 =
48 -6 = 28 -7 =
144 - 12 = 27 +9 =
39 +-13 = 156 =~ 13 =
28 -2 = 40 -4 =
10 +-10 = 14+1=
42 =14 = 16 -4 =
22 +11 = 39 +-3=
182 + 13 = 60 =6 =
13+13 = 35+5=
56 14 = 22 +2=
99 -9 = 196 - 14 =
140 = 14 = 26 -2 =
10+-5= 132 +11 =
108 -9 = 84 +6 =
78 +13 = 130 =13 =

Score:

24+ 8 =
66 ~ 11 =
4+1=

84+7=

154 - 14 =
96 - 8 =

8+4=

48 ~ 8 =
20+2 =

52+4=

70 =7 =
112 -8 =

30-10= |

55+5=
40 5=
1+1=
14 -2 =
98 +7 =
54 +6 =
77 - 11 =
84 =14 =
168 =~ 14 =

8§~2= |

63 -9 =
126 - 14 =
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Dividing by 1 to 14 (C) Answers

Name:

90 +10=
110 =11 =
182 + 14 =
108 =12 =
130 =10 =
117 =9 =
140 =10 =
99 - 11 =
143 - 13 =
168 - 12 =
169 =13 =
117 +-13 =
121 =11 =
110 +-10 =

81 +9 =

90 -9 =
156 - 12 =
72 +12 =

120 +-10 =

30 -6 =
100 - 10 =
126 -9 =
104 =13 =

10

13

13

13

14

11

14

13

11

11

10

13

12

10

14

Calculate each quotient.

7+=7=
104 = 8 =
42 -6 =
77 =7 =
132 +12 =
2+2=
9+1=
44 - 4 =
6=-2=
143 - 11 =
48 -6 =
144 - 12 =
39 +-13 =
28 -2 =
10 +-10 =
42 - 14 =
22+11 =
182 +13 =
13+13 =
56 14 =
99 -9 =
140 - 14 =
10+-5=
108 -9 =
78 +13 =

Date:

1

13

7

11

11

11

13

12

14

14

11

10

12

30+-5=
66 -6 =
15+5=
10 -2 =
45 +9 =
35+7=
96 - 12 =
154 - 11 =
28 - 14 =
120+ 12 =
28 +7 =
27 +9 =
156 =~ 13 =
40 -4 =
14+-1=
16 -4 =
39+3=
60 -6 =
35+5=
22 +2=
196 - 14 =
26 -2 =
132 +11 =
84 +6 =
130 =13 =

12

10

14

13

10

11

14

13

12

14

10

Score:

24 =8 =
66 =11 =
4+1=
84 +7 =
154 - 14 =
96 -8 =
8+4 =
48 - 8 =
20+2 =
52 +4 =
70 -7 =
112 -8 =
30+-10 =
55+5=
40 5=
1+1=
14 -2 =
98 +7 =
54 +6 =
77 - 11 =
84 - 14 =
168 =~ 14 =
8 +2=
63 +9 =
126 - 14 =
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Dividing by 1 to 14 (D)

Name:

Date:

196 =~ 14 =
126 +- 14 =
120 =10 =
110 =10 =
140 =10 =
168 - 12 =

99 -9 =
182 +13 =
140 - 14 =
154 - 11 =

90 -9 =
144 - 12 =
121 =11 =
132 +12 =
130 +-13 =
100 =10 =
117 =9 =
130 =10 =
168 - 14 =
90 - 10 =
108 =12 =
99 =~ 11 =
126 9 =
110 +11 =
143 +-13 =

Calculate each quotient.

156 ~ 13 = 60 = 12 =
81+9 = 20+ 2 =
132 +11 = 16 ~ 4 =
84+ 12 = 44 =
21+7 = 77 + 11 =
60 = 10 = 25+ 5=
15+ 5= 6+2=
6+6= 36+ 3 =
72+9 = 156 ~ 12 =
108 + 9 = 30+ 5=
44+ 11 = 9+1=
11+11= 96 =+ 8 =
10+ 5= 637 =
8+4= 120 12 =
52+13 = 154 ~ 14 =
12+2= 48 + 6 =
55+11 = 72+12 =
30+ 3 = 72+ 8 =
1+1= 14+7=
60 =5 = 4+2=
11+1= 7+1=
143 + 11 = 32 -4 =
28 + 4 = 24+ 6=
24+ 12 = 6+1=
42 + 14 = 44 + 4 =

Score:

20 + 4 =
52+ 4 =
42 +7 =

104 +-13 =

9+9=
36 -12 =

50=-10=

42 =3 =
50 =5 =

24+8=

169 +- 13 =
48 -4 =

49-7=

117 +-13 =
182 - 14 =
3010 =
104 -8 =
60 -6 =
15+3 =
45+9 =
56 ~14 =

66 -6=

35+5=
306 =
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Dividing by 1 to 14 (D) Answers

Name:

Date:

196 =~ 14 =
126 +- 14 =
120 =10 =
110 =10 =
140 =10 =
168 - 12 =

99 -9 =
182 +13 =
140 - 14 =
154 - 11 =

90 -9 =
144 - 12 =
121 =11 =
132 +12 =
130 - 13 =
100 =10 =
117 =9 =
130 =10 =
168 - 14 =
90 - 10 =
108 =12 =
99 =~ 11 =
126 9 =
110 +11 =
143 +-13 =

14

12

11

14

14

11

14

10

14

10

12

11

11

10

10

13

13

12

14

10

11

Calculate each quotient.

156 =13 = 12 60 +12 =
81-9= 09 20+2 =
132 +-11 = 12 16 -4 =
84 +12= 7 4 -4 =
21-7= 3 77 =11 =
60+-10= 6 25+5=
15+=5=3 6+2=
6-6= 1 36 -3 =
72+-9= 8 156+12 =
108 -9 = 12 30+5=
4 =-11= 4 9+1=
11=+-11= 1 96 -8 =
10=-5= 2 63+7=
8+4= 2 120+12 =
52+13= 4 154 +14 =
12+2= 6 48 - 6 =
55+11= 5 72 +12 =
30-3= 10 72 +8 =
1-1= 1 14 =7 =
60+-5= 12 4 +2=
11=-1= 11 7+1=
143 =11 = 13 324 =
28 -4 = 24 -6 =
24 +-12 = 6+-1=
42 + 14 = 44 ~ 4 =
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Score:

20 =4 =
52 -4 =
42 =7 =

104 =13 =
9+90=
36 -12 =
50 +10 =
42 -3 =
50 +5=
24 -8 =

169 =13 =
48 -4 =
49 -7 =

117 - 13 =

182 + 14 =
30+-10 =
104 =8 =
60 -6 =
15+3 =
45 +9 =
56 14 =
9+3=
66 -6 =
35+-5=
30+-6 =
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Dividing by 1 to 14 (E)

Name:

Date:

121 =11 =
110 +-10 =
117 - 13 =
143 =13 =
154 - 14 =

90 +-9 =
130 - 13 =
108 -9 =
126 -9 =
100 =10 =
168 + 14 =
120 - 10 =
169 =13 =
132 +12 =
154 +11 =
156 - 12 =
140 =10 =
196 - 14 =
110 +11 =
120 +-12 =
132 +11 =
156 =13 =
9 =11 =
182 +13 =
126 - 14 =

Calculate each quotient.

130+ 10 = 99 -9 =
2+2= 77 =11 =
8+8= 50 +-10 =
45+ 5= 117 +9 =
24 -8 = 12 +4 =
27 =9 = 96 = 12 =
24 -4 = 6+6=
56 -7 = 42 -6 =
12 +2 = 36 - 12 =
60 =5 = 55+ 5=
30+-3= 36 -9 =
28 =7 = 168 - 12 =
36 -4 = 56 -8 =
35+7= 60 = 12 =
20 =2 = 10+2 =
84 =7 = 144 - 12 =
15+3 = 140 - 14 =
45 +9 = 24 =3 =
1+1= 104 - 13 =
22 =11 = 70 =10 =
26 -2 = 54 -9 =
112 +- 14 = 13+13 =
81 +9 = 4+2=
9+9= 91 - 13 =
90 =~ 10 = 4+1=

Score:

50 + 5 =
8+4=
40 + 10 =

88 -8 =

24 -6 =
108 - 12 =

56 ~4=

182 - 14 =
12+-1=

88 ~11=

11+1=
10+-1=

20=-10=

39+-3 =
3010 =

25+ 5=
56+ 14 =
4+4=
3+3=
18+ 3 =

7-1=|

143 =11 =
77 +-7=
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Dividing by 1 to 14 (E) Answers

Name:

Date:

121 =11 =
110 +-10 =
117 - 13 =
143 =13 =
154 - 14 =

90 +-9 =
130 - 13 =
108 -9 =
126 -9 =
100 =10 =
168 - 14 =
120 - 10 =
169 =13 =
132 +12 =
154 +11 =
156 - 12 =
140 =10 =
196 - 14 =
110 +11 =
120 +-12 =
132 +11 =
156 =13 =
9 =11 =
182 +13 =
126 - 14 =

Calculate each quotient.

11

11

11

11

10

10

12

14

10

12

12

13

11

14

13

14

14

10

10

12

12

14

130 +10 =
2+2=
8§ +8 =

45 =5 =
24 +8 =
27 +9 =
24+ 4 =
56 -7 =
122 =
60 - 5=
30+3=
28 +7 =
36 -4 =
35+7 =
202 =
84 +7 =
15+3 =
45 +9 =
1+-1=

22 +11 =
26 -2 =

112 + 14 =
81 +9 =
9+9=

90 - 10 =

[
W

Q| |C0| QN | W||W| (O |||

[
(\]

—
)

10

12

D= || W

O ||| \O| |00

99 -9 =
77 =11 =
50 +10 =
117 +-9 =
12 -4 =
96 - 12 =
6+6=
42 -6 =
36 =12 =
55+5=
36 -9 =
168 - 12 =
56 -8 =
60 12 =
10 -2 =
144 - 12 =
140 - 14 =
24 =3 =
104 =13 =
70 - 10 =
54 +9 =
13+13 =
4 +2=
91 -+ 13 =
4+1=

11

p—
[\

—
(@)

D[R] O[]0 |0

Score:

50+5=
8§ +~4 =
40 =10 =
88 -8 =
24 -6 =
108 =12 =
56 -4 =
182 + 14 =
12+1=
88 +11 =
11+-1=
10+-1=
20+10 =
39 -3 =
30=10 =
6=-1=
6=2=
25+5=
56 - 14 =

3+-3=
18 -3 =
7+1=
143 =11 =
77 +-7=

| [ = p— = || = e p— p—
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Dividing by 1 to 14 (F)

Name:

Date:

130 +-10 =
182 + 14 =
121 =11 =
196 - 14 =
100 =10 =
110 =10 =
90 - 10 =
99 - 11 =
117 +9 =
108 -9 =
154 - 14 =
140 =10 =
110 +11 =

90 -9 =
120 - 10 =
120 +-12 =
143 +11 =
168 =12 =
168 - 14 =

81 +9 =
126 -9 =
169 - 13 =
156 - 12 =

30+-3=

49 -7 =

Calculate each quotient.

28 -4 = 26 ~13 =
12 +2 = 154 - 11 =
6+3= 8+2=
70 =5 = 36 -9 =
6+2= 24 ~3 =
72 +9 = 55+11 =
132 +-11 = 15+5=
18 -6 = 72 +6 =
35+-7= 4+4=
3+-1= 24 -2 =
104 =13 = 21 -3 =
24 -6 = 2=2=
132 +12 = 70 - 10 =
2+1= 98 -7 =
143 - 13 = 24 -8 =
80 +10 = 1212 =
88 +11 = 99 -9 =
12 +3 = 25+5=
306 = 32+4 =
26 +2 = 66 - 11 =
130 +-13 = 8+1=
11 =11 = 182 - 13 =
84 -6 = 156 - 13 =
21 -7 = 18 -9 =
60 +-12 = 126 =14 =

Score:

48 + 4 =
3+3=
108 + 12 =

16 -2= |

91 -7 =
70 - 14 =

11-1= |

10 -10 =
3311 =

24+-12=

117 +-13 =

78+13=

7+1=
112 +-14 =
40 5=
88 =8 =
140 - 14 =
144 - 12 =
40 +-10 =
48 -8 =
63 +9 =
40 -4 =

50-5=|

4+2=
52+4 =
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Dividing by 1 to 14 (F) Answers

Name:

130 +-10 =
182 + 14 =
121 =11 =
196 - 14 =
100 =10 =
110 =10 =
90 - 10 =
99 - 11 =
117 +9 =
108 -9 =
154 - 14 =
140 =10 =
110 +11 =

90 -9 =
120 - 10 =
120 +-12 =
143 +11 =
168 =12 =
168 - 14 =

81 +9 =
126 -9 =
169 - 13 =
156 - 12 =

30+-3=

49 -7 =

13

13

11

14

10

11

13

12

11

14

10

10

12

10

13

14

12

14

13

13

10

Date: Score:
Calculate each quotient.

28+4= 7 26-13= 2 48 -4 =
12+-2= 6 154+-11= 14 3+-3=
6-3= 2 8+2= 4 108 +12 =
70=-5= 14 36 -9= 4 16 -2 =
6+-2= 24+-3= 8 0l -7 =
72+-9= 8 55+11= 5 70 =14 =
132 =11 = 12 15+-5= 3 11+1=
18+-6= 3 72+-6= 12 10 =10 =
35+7= 5 4=-4= 1 3311 =
3+-1= 3 24 -2 = 12 24 =12 =
104 -13 =8 21=-3= 7| 117+13 =
24-6= 4 2+2= 78 =13 =
132 +-12= 11 70=-10= 7 7+1=
2=-1= 2 B+-7= 14 112+14 =
143 - 13 = 11 24-8= 3 40 =5 =
80+-10=| 8 12+12= 1 88 -8 =
88+11=| 8 9 +-9= 11 140+14 =
12+-3= 4 25+5= 144 - 12 =
30-6= 5 32+4 = 40 =10 =
26 -2= 13 66 - 11 = 48 -8 =
130 - 13 = 10 8§+1= 63 -9 =
11+-11= 1 182+13= 14 40 -4 =
84-6= 14 156 +13= 12 50+5=
21 -7 = 18 -9 = 4 =2 =
60-12= 5| 126 +14 = 52 +4 =

p— = | [ = || || p— i p—
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Dividing by 1 to 14 (G)

Name:

Date:

144 - 12 =
143 - 13 =
132 +12 =
130 - 13 =
108 =12 =
117 - 13 =
168 - 12 =
140 - 14 =
90 - 10 =
168 + 14 =
120 =10 =
140 =10 =
110 +11 =
154 - 14 =
110 +-10 =
99 =~ 11 =
100 =10 =
154 +11 =
196 - 14 =
126 - 14 =
130 =10 =

8§ +8 =

15+5=

63 +7=

12+-1=

Calculate each quotient.

24 +-8 = 60 - 10 =
9+3= 70 =5 =
78 -6 = 72 =12 =
66 -6 = 10 -2 =
60 +5= 5+5=
10 +-10 = 99 -9 =
121 =11 = 12 -2 =
18 -9 = 182 +13 =
10+-1= 15+3 =
1+-1= 24 =2 =
112 -8 = 2+1=
39 -3 = 6=-2=
24 -4 = 42 - 14 =
66 - 11 = 96 - 12 =
14 - 14 = 40 -4 =
132 +11 = 52 +4 =
108 =9 = 169 =13 =
24 -6 = 77 =7 =
63 +9 = 9+9=
104 =8 = 182 - 14 =
49 -7 = 143 - 11 =
50+5= 6=-6=
18 -6 = 120+ 12 =
60 =12 = 56 -8 =
25+5= 84 + 14 =

Score:

90 -9 =
117 -9 =
22+2=

156 +-13 =

16~ 8 =
48 ~ 4 =

6+-3=

11+-11 =
27 =3 =

81-9=

26 -2 =
11+1=

50=-10=

44 - 4 =
45 +5 =
36 =12 =
8§+1=
156 =12 =
333 =
1212 =
202 =
78 =13 =

126 =9 =|

72 +9 =
12 +-6 =
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Dividing by 1 to 14 (G) Answers

Name:

Date:

144 - 12 =
143 - 13 =
132 +12 =
130 - 13 =
108 =12 =
117 - 13 =
168 - 12 =
140 - 14 =
90 - 10 =
168 + 14 =
120 =10 =
140 =10 =
110 +11 =
154 - 14 =
110 =10 =
99 =~ 11 =
100 =10 =
154 +11 =
196 - 14 =
126 - 14 =
130 =10 =

8§ +8 =

15+5=

63 +7=

12+-1=

Calculate each quotient.

12

11

11

10

14

10

12

12

14

10

11

11

10

14

14

13

12

24 -8 =
9+3=
78 -6 =
66 -6 =
60 -5 =
10 -10 =
121 - 11 =
18 -9 =
10+-1=
1+-1=
112 -8 =
39+-3 =
24 -4 =
66 - 11 =
14 - 14 =
132 +11 =
108 -9 =
24 -6 =
63 +9 =
104 -8 =
49 -7 =
50+-5=
18 -6 =
60 - 12 =
25+5=

3

3

13

11

12

1

11

2

10

1

14

13

12

12

13

10

60 - 10 =
70 =5 =
72 =12 =
10 -2 =
5+5=
99 -9 =
12 -2 =
182 +13 =
15+3=
24 -2 =
2+1=
6+2=
42 - 14 =
96 ~ 12 =
40 -4 =
52 +4 =
169 =~ 13 =
77 =7 =
9+9=
182 + 14 =
143 - 11 =
6+6=
120+ 12 =
56 -8 =
84 - 14 =

14

11

14

12

10

13

13

11

13

13

10

Score:

90 -9 =
117 +-9 =
22+2=
156 - 13 =
16 =8 =
48 -4 =
6+3=
11 =11 =
27 +3 =
81 +9 =
26 -2 =
11+-1=
50 +10 =
44 - 4 =
45+ 5 =
36 12 =
8+1=
156 =12 =
33+3=
1212 =
20+2 =
78 +13 =
126 + 9 =
72 +9 =
12+6 =
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Dividing by 1 to 14 (H)

Name:

Date:

90 +9 =
154 - 11 =

81 +-9 =
168 - 12 =
154 - 14 =
120 =10 =
126 +- 14 =
156 - 12 =
143 =11 =
140 - 14 =
143 - 13 =
121 =11 =
108 =9 =
182 +13 =
108 =12 =

99 -9 =
196 - 14 =
126 =9 =
144 - 12 =
182 +14 =
117 +-13 =
110 +11 =
156 =13 =

2+1=

52 +4 =

Calculate each quotient.

44 =11 = 33+3=
42 =3 = 130 =10 =
22 +2 = 55+5=
70 =5 = 66 -6 =
24 +4 = 30+-5=
39 -3 = 18 =2 =
56 14 = 120+ 12 =
54 -6 = 36 -3 =
72 +8 = 12 +-3 =
132 +12 = 169 =13 =
90 =10 = 9+9=
22 +11 = 21 -3 =
11 =11 = 132 +11 =
324 = 16 -4 =
50+5= 7+1=
49 -7 = 6+1=
88 =8 = 98 =7 =
24 -6 = 104 = 8 =
26 =13 = 48 - 8 =
66 - 11 = 3311 =
117 -9 = 5+1=
78 -6 = 10+-5=
9+3= 12+1=
55+11 = 36 -4 =
12 +-12 = 63 +7=

Score:

168 ~ 14 =
60 + 5 =
64+ 8 =

20+-5=|

56 -4 =
28+4=

140 -10= |

84 - 12 =
110 +-10 =

30-10= |

72 =12 =
99 =11 =

60=-6=

26 -2 =
77 =11 =
24 +3 =
42 - 14 =
91 =7 =
84 =7 =
100 =10 =
130 =13 =
96 - 12 =

48 12 = |

4+2=
36+ 12 =
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Dividing by 1 to 14 (H) Answers

Name:

90 +9 =
154 - 11 =

81 +-9 =
168 - 12 =
154 - 14 =
120 =10 =
126 +- 14 =
156 - 12 =
143 =11 =
140 - 14 =
143 - 13 =
121 =11 =
108 =9 =
182 +13 =
108 =12 =

99 -9 =
196 - 14 =
126 =9 =
144 - 12 =
182 +14 =
117 +-13 =
110 +11 =
156 =13 =

2+1=

52 +4 =

10

14

14

11

12

13

13

10

11

11

12

14

11

14

14

12

13

10

12

13

Calculate each quotient.

44 =11 =
42 =3 =
22 +2 =
70 -5 =
24 -4 =
39+-3=
56 14 =
54 -6 =
72 =8 =
132 +12 =
90 - 10 =
22 +11 =
11 =11 =
324 =
50+5=
49 -7 =
88 -8 =
24 + 6 =
26 -13 =
66 - 11 =
117 -9 =
78 -6 =
9+3=
55+11=
12 +-12 =

Date:

4

14

11

14

6

13

RN |\O

10

11

13

13

33+3=
130 +-10 =
55+5=
66 -6 =
30+5=
18 =2 =
120+ 12 =
36 -3 =
12 +-3 =
169 =13 =
9+9=
21 =3 =
132 +11 =
16 -4 =
7+1=
6=+1=
98 7 =
104 =8 =
48 - 8 =
33+11=
5+1=
10+-5=
12+-1=
36 -4 =
63 +7=

11

13

11

11

10

12

13

12

14

13

DU | WO

Score:

168 =~ 14 =
60 +5=
64 -8 =
20+5=
56 ~ 4 =
28 -4 =

140 - 10 =
84 +-12 =

110 - 10 =
30+10 =
72 +12 =
99 =11 =
60 -6 =
26 +2 =
77 =11 =
24 +3 =

42 - 14 =
91 =7 =
84 +7 =

100 = 10 =

130 = 13 =
96 ~ 12 =

48 - 12 =
4+2=
36 -12 =

(S ey - = || b= p— p— p— [ -
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Dividing by 1 to 14 (I)

Name:

Date:

140 - 10 =
117 +-9 =
168 -12 =
130 - 13 =

99 -9 =
110 +-11 =
120 - 10 =
169 - 13 =
144 - 12 =
143 -13 =
120 +-12 =

81 +9 =
108 -12 =
110 =10 =
126 -9 =
132 12 =
121 11 =
154 - 14 =

90 -9 =
99 - 11 =
154 =11 =
108 -9 =
182 14 =
156 - 12 =

6+-3=

Calculate each quotient.

48 = 6 = 78 = 6 =
4+1= 1+1=
42+ 6 = 72+9 =
24+3 = 56+ 7 =
65+ 5= 24+ 8 =
35+ 5= 10+ 5=
143 + 11 = 30+ 3 =
182+ 13 = 13+13 =
14 =14 = 91+ 7 =
88 ~ 11 = 117 + 13 =
126 ~ 14 = 44 =
196 = 14 = 324 =
56+ 8 = 54+ 6=
12+3= 16 ~ 8 =
13211 = 42 + 14 =
140 = 14 = 20+ 4 =
77 + 11 = 60 = 6 =
168 + 14 = 8+4=
5+5= 8+8=
24+ 4 = 130 + 10 =
9+3= 77+ 7 =
25+ 5= 55+ 5=
72+ 8 = 52+13 =
5+1= 26+2 =
100 + 10 = 15+ 3 =

Score:

20+ 2 =
48 + 8 =

96 +8=

56 + 4 =
22+11 =

70-10=

36 =12 =
1212 =

90+-10=

14 -2 =
2+2=

10-10=

70 +7 =
39 -3 =
98 =14 =
42 +7 =
122 =
18 -2 =
30=10 =
156 =13 =
44 - 11 =

55=-11=

28 =14 =
72 =12 =
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Dividing by 1 to 14 (I) Answers

Name:

Date:

140 - 10 =
117 +-9 =
168 -12 =
130 - 13 =

99 -9 =
110 +-11 =
120 - 10 =
169 - 13 =
144 - 12 =
143 -13 =
120 +-12 =

81 +9 =
108 -12 =
110 =10 =
126 -9 =
132 12 =
121 11 =
154 - 14 =

90 -9 =
99 - 11 =
154 =11 =
108 -9 =
182 14 =
156 - 12 =

6+-3=

Calculate each quotient.

14

13

14

10

11

10

12

13

12

11

10

11

14

11

11

11

10

14

12

13

13

48 -6 = 8 78 -6= 13
4+-1= 4 1=-1= 1
42=-6= 7 72+-9= 38
24+-3= 38 56 7= 8
65+-5= 13 24+-8= 3
35+-5= 7 10=-5= 2
143 +-11 = 13 30+-3= 10
182 +13 = 14 13=+-13= 1
14 =14 = 91+-7= 13
88 +11 = 117+13 =9
126 - 14 = 4+-4= 1
196 - 14 = 14 32+-4= 38
56 -8= 7 54+-6= 9
12 +3 = 16 -=8= 2
132 +-11= 12 42 =14 = 3
140 +-14 = 10 20+-4= 5
7711 = 7 60 -6 = 10
168 =14 = 12 8+4= 2
5+5= 1 8+8 =
24+4= 6 130+10= 13
9+3= 3 77 =7 = 11
25+-5= 5 55+-5= 11
72+-8= 9 52+13= 4
5=-1= 5 26 -2 = 13
100 -10= 10 15=-3=1|5

Score:

20+2 =
48 ~ 8 =
96 + 8 =

56 -4 =
22 +11 =
70 =10 =
36 =12 =
12 +-12 =
90 - 10 =
14 =2 =
2+2=
10 +10 =
70 +7 =
39+3=
98 ~ 14 =
42 +7 =
122 =
18 -2 =
30+-10 =
156 - 13 =
44 - 11 =
55+11=
28 =14 =
72 =12 =
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Dividing by 1 to 14 (J)

Name:

Date:

108 -9 =
130 +-10 =
144 - 12 =
108 =12 =
126 - 14 =
140 =10 =
140 - 14 =
117 =+ 13 =
132 +11 =
143 =11 =
168 + 14 =
126 -9 =
120 - 10 =
130 - 13 =
110 +-10 =
156 - 13 =
117 =9 =
99 ~ 11 =
121 =11 =
156 - 12 =
154 - 14 =
182 +14 =
196 - 14 =
90 - 10 =
84 +12 =

Calculate each quotient.

22 +11 = 36 -3 =
10+-1= 24 -6 =
120 +-12 = 36 -6 =
28 +-14 = 182 -13 =
27+9 = 104 - 13 =
14 -2 = 32+-8 =
5+5= 1+-1=
99 -9 = 5+1=
44 =11 = 132 +12 =
9+1= 16 -2 =
4-+-2= 21 -7 =
100 =10 = 8§ +8 =
30+-6= 90 -9 =
84 - 14 = 56 14 =
25+5= 14 -7 =
102 = 55+5=
7+=7= 168 12 =
8+2= 96 -8 =
22+2 = 24 -2 =
8§+4 = 78 -13 =
39+-3 = 64 -8 =
91 -7 = 60 -6 =
11 11 = 56 -7 =
84 +7 = 112 =8 =
202 = 36 -12 =

Score:

18 +3 =
3+1=
12+ 4=

18~2= |

24+ 8=
42+ 14 =

2-2=

12+3 =
154 =11 =

169 ~13= |

77 =7 =
81 +9 =

32=4=

6+-3=
35+5=
6+-6=
35+7=
110 =11 =
12+1=
3010 =
88 + 11 =
15+5=

143 -13=

28 -4 =
78 -6 =
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Dividing by 1 to 14 (J) Answers

Name:

Date:

108 -9 =
130 =10 =
144 ~ 12 =
108 =12 =
126 - 14 =
140 =10 =
140 - 14 =
117 =+ 13 =
132 +11 =
143 =11 =
168 - 14 =

126 -9 =
120 - 10 =
130 - 13 =
110 +-10 =
156 - 13 =

117 =9 =
99 ~ 11 =
121 =11 =
156 - 12 =
154 - 14 =
182 +14 =
196 - 14 =
90 - 10 =
84 +12 =

Calculate each quotient.

12

13

12

14

10

12

13

12

14

12

10

11

12

13

11

13

11

13

14

2+11=]2  36+3= 12
10+1=/10] 24+6=
120+12= 10  36+6=
28+14= 2] 182+13= |14
27+9=3 104+13= 38
14+2= 7| 32+8=4
5+5=1 1+1=1
99+9= 11 5+1= 5
44 +11 = 132+12= |11
9+1= 16+2= 8
4+2=2 21+7= 3
100 +10 = 10 8+8=1
30+6=5  90+9= 10
84+14= 6 56+14=
25+5=5| 14+7=]2
10+2= 5 55+5=11
7+7=1] 168+12= 14
8+2=/4] 96+8= 12
2+2= 11 24+2=]12
8+4= 2 78+13=
39+3= 13| 64+8=
91+7= 13 60+6= 10
11+11= 1 56+7=38
84+7= 12 112+8= 14
20+2= 10 36+12=3

Score:

18 -3 =
3+-1=
12 -4 =
18 =2 =
24 -8 =
42 =14 =
2+2=
12 +-3 =
154 =11 =
169 =13 =
77 =7 =
81 +9 =
324 =
6+3=
35+-5=
6=+6=
35+7 =
110+ 11 =
12+-1=
30+-10 =
88 - 11 =
15+5=
143 - 13 =
28 -4 =
78 -6 =
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